CCS4T/19

101. Match List I and List II CCS4T/19
List I List II
Planets Number of natural satellites
(a) Mars 1. 60 satellites
(b) Jupiter 2. 27 satellites
(¢) Saturn 3. 63 satellites
(d) Uranus 4. 2 satellites
uCiquiev T emwt Ll iquiev IT 2 L 6T QUITHS SIS :
ulguev I uCguwev IT
GAlyp:AN) QWM HS Fieneord C&sTeTa: 6T
(a) QFFeueumUl 1. 60 Z160)600T5C & TETE 6T
(b) eNwiripedr 2. 27 S160)600T8C & TEITE 6T
(c) Feofl 3. 63 160 600TEC S T6ITSH 6T
(d) wGyevrerL 4. 2 516060078 Q& TETE 6T
@ b ©© @ @
(A) 1 2 3 4
(B) 4 3 1 2
©) 1 4 2 3
(D) 4 1 3 2

102. The compound used in breath analysis test for drunken driving is CCS4T/19
(A) K»Cr-0, (B)KI (C) KMnO, (D) CuSO,
DS SMBHB amserd el (healend e &HEGID FaimgFl UGLuUmile) GFmgemeruiley
LweTuU(®Ww GF LD
(A) KoCr-0, (B) KI (C) KMnO, (D) CuSO,

103. Which Metro Rail Corporation has started the initiative to become the World’s first 100%
solar-powered metro? CCS4T/19
(A) Jaipur Metro rail Corporation Ltd.
(B) Gujarat Metro Rail Corporation Ltd.
(C) Delhi Metro Rail Corporation Ltd.
(D) Chennai Metro Rail Corporation Ltd.
100% &l Qymmenev LWeTURSSH), 2 0HR 6T (NS6v QL CITaITs: 2 (Haums (WM
QEFWIW LD @rufev BlomieueoTLD 6TI?
(A) guILT QL Erm @rule mlmiaierid
(B) x2rms QL Gym @ruiley mlmiaisrid
(C) QL6ved QUL Grm @ruiléy BlmieeTLD
(D) QFsttement QLG @ruiev mlomiaierid
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104.

105.

106.

107.

108.

As per G-20 surveillance note, India’s economy is to grow at in the year 2020.

CCS4qT/19

(A) 6.5% (B) 5.5% (©) 7.5% (D) 8.5%

G-20 &evorsmmeoollliy GMILINeTL) 2020 QLD Spevor(h @BHWMTelledT QUITIHETTSITT
QUETTFG 5 @ (HSHGLD.

(A) 6.5% (B) 5.5% (C) 7.5% (D) 8.5%

In the year 1951, Population growth rate is called CCS4T/19

(A) Year of Great Divide (B) Year of Population Explosion

(C) Year of Population (D) Year of Small Divide

1951 QLD 24,600T(H) LD&HGH6T QSMeNS CLIHES aiGLD @ 6IaMTM eP&HEELILGRMSI
(A) QU@L LNiflellemenr oy, 6v0T(H) (B) D&:&56T QBMTens Q6L LiL]| ,600T(H)
(C) &&6T QBT 26000 (D) 8oy Lemey oy,600T()

In which desert is Noor Complex located? CCS4T/19

(A) Sahara Desert (B) Thar Desert

(C) Kalhari Desert (D) Gopi Desert

BT &TDLIET&6M 6THS LITeM6V6U6TSHH 60 2(60)L0HSI6TETSI?

(A) 5ammTym LIMen6V6 60T (B) &IT LIMem6V6 60TLD
(C) mevammifl Limemeveal6oTLD (D) GsmLl Limemeveu6oTLD

Which of the following statement(s) is/are correct? CCS4T/19

1. In 2019, World Environment Day was celebrated in China.

2. The Theme for the World Environment Day is Air Pollution

(A) 1 and 2 are true (B) 11s true, 2 is false

(C) 1 and 2 are false (D) 21is true, 1is false

LN edTeu(BLD FoMMIG6fl6v eTemau & ifluimeoTemeu?

1. 2019 9D 2,600TL9.60T 2 608 FMHMIF GLP6V FHeoT Q& MevoTLITLL LD FeormaileL HemLQLIMHMSI.
2. 9560 MG HHSHS! : HTHMI DTS

(A) 1,2 @ wemeu &ifl (B) 1 &1fl, 2 seum

(©) 1,2 uHWemeu Heumi (D) 2 1], 1 Heum

The objective of Jandhan Yojana is CCS4T/19
(A) Financial inclusion

(B) Reducing regional disparities

(C) Social exclusion

(D) Population control
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QETHET FL_L&H 6T &G n&BH e

(A) SjemeTEUMTULD 2 6TETL&HE W QUITIHETMTSTT (LNedTGeorMmLD
(B) Ngrmph& w gmms &THe & ener &enmLiLIS

(C) Fewnass aflevd: 60

(D) n&&sL Qsmams &L G\LIUm@

109. France has party system. CCS4T/19

(A) Single party (B) Multi party
(C) Biparty (D) None
LNgmeT&lev 2 6T &L& (Lnemnm

(A) @DHemEsELE emm (B) uev L8 whemm
(©) @uLlenL &L& wemm (D) etg16Lb @)6vemev

110. Which water conservation campaign has been recently launched by the Central Government?

CCS4T/19

(A) Jal Bachav Abhiyan (B) Jal Tarang Abhiyan

(C) Jal Suraksha Abhiyan (D) Jal Shakthi Abhiyan
SH W TFMT QSTLBIGLILLG6TET BT LIMSISTLIL L LIFLILI6NT 6T&5?
(A) 5260 LF&FTeU LNl medT (B) 126v M 9L Nwimedt

(C) 6L &8 aqm LNwimedt (D) 8260 #55 < Nwimedr

111. The major port along the West Coast CCS4T/19

(A) Kandla (B) Chennai

(C) Paradip (D) Kolkata
GLMG SHLMEBTUIl6L jemnBSI6TeT QUflul SlemmsLD
(A) sevorL_60IT (B) Q& evremr 60T
(C) urgsLI (D) Q&meveEs 5T

112. In lower organism sometimes the entire mature organisms do not form gametes but they
themselves behave as gametes and the fusion of such mature individuals is known as

CCS4T/19
(A) Anisogamy (B) Merogamy
(C) Paedogamy (D) Hologamy

Gumlemev 2 Wilflsefles Hlev FuwWmSGa L WHTHE 2 UlflEHeT @ 6TEQF60&HemeT
2 (HUTESTINN elaulfleaGar @6t QF6&6T GLIMETM QWL (H 6 6dTnem 6o HSl
LW 2 Wilifleseamers Csmmmieils @ Q&F U6

(A) GaumILIL L Q&F6L GFIHmS (B) nmoiLl L QF6v GFJE &

(C) @eTh QF6L CTFFT&HMS (D) ww GarsHms
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113. Match the following CCS4T/19

Place Leaders of the revolt
(a) Delhi 1. Begum Hazarat Mahal
(b) Central India 2. Tantia Tope
(¢) Lucknow 3. Rani Laxmi Bai
(d) Kanpur 4. Bhadur Shah —II
QUITHSSIH
@LLb RemIeFFR UL FHLLL SH6m6V6UT&H6IT
(a) QLsvedl 1. GUSLD aMENVIS GlLDAMEL
(b)) LEHW @BHHWIT 2. IHHWIT CHTLIGL
(c) ev&Georim 3. @umeoof] @evL_& Ll LIl
(d) ssmeoTL, i 4. ussTFaqm — II
@ b ©© @ @
A) 2 1 3 4
B) 4 3 1 2
© 1 3 4 2
(D) 4 2 1 3
114. Who was selected as the first Chief Vigilance Commissioner of India? CCS4T/19
(A) Sharad Kumar (B) B. K. Acharya
(C) Nittoor Srinivasa Rau (D) R.P. Khanna
WHVTaISTE CHIHOSHE&SLILLL HHeuevor aNLEILIL|60TI6)] 3,6 600T IS EH 60T 2,60)600T LI
Wwimg?
(A) 505 G0y (B) B. K. sy gmywm
(©) BLBT Eevflours ey (D) R.P. ssev01600TT

115. Consumer Protection Act is called as CCS4T/19
(A) Tamil Nadu Nugarvor Kavasam
(B) Consumer’s Magna Carta
(C) World Nugarvor Kavasam
(D) Valuable Consumer Kavasam
BISTCaUMTT LUMGISTLL FLLID 6T60T U MPESLILIGSR MSI.
(A) sDLBMTH BIGTCAIMT LUMSISTLIL] Helsn
(B) BI&TG6uUMfl6dT D& TEFMTE60TLD
(C) 2.5 BIGTCAMTT &HaUFLD
(D) n&\LiLeTer BISTECUTT SHeUsLD

116. In which model of elections, the President and the Vice-President, the members of the Rajya
Sabha are elected? CCS4T/19
(A) By-Election (B) Direct Election
(C) Indirect Election (D) Mis-Term polls
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117.

118.

119.

GQUT&HS FHOeval] MmN SN GUUWIFS HMmeVal, BITLMTEHN6TN GLeLF6mL

o2 miliLfeTIge6T (Wwemm eLpevld CHTHOHH & L1LIH G 65TM 60T
(A) @60L G CHIHEL 6T (B) GBI195 CaT&H6 (e
(C) eSS CHTH6L (MM (D) @emLLiLiheus CHI&6056T

Which of the following statements is/are correct? CCS4T/19

1. The term of office of the Governor is five years

2. He can remain in office till his successor enters the office of the Governor.

(A) Both 1, 2 are correct (B) only 1 is correct

(C) only 2 is correct (D) Both 1, 2 are incorrect

LNedTeu(hLD FoMM1&Herflev eTeme & ifl Wi meoTgI?

1. EBHfler UHalsaHTeID BHSE 3i,600T(H &6

2. SepEflear usellds SMeuld WIGeImLBS CUTHaID Jal LeTerd eu@hLIeU]
USaICWMHGLD euemy Lgalullev QFHTLFH M.

(A) 1,2 8w @revor(HGL &ifl (B) 1 (b &1l

(©) 2 L & (D) 1,2 & @evor(HIGLD Seum

Which of the following statements about bases is/are true? CCS47T/19

I. Baseis a substance which releases hydroxide ions when dissolved in water

II. They change blue Litmus to red

ITI. Zinc reacts with sodium hydroxide to form Sodium Zineate with the liberation
of hydrogen gas

IV. They are colourless with phenolphthalein and pink with methyl orange

(A) I and IIT (B) II only (C) I and TV (D) IV and TI

SITIBIG6T LMMIW BLh& G600 FoMMIG6Tlev 611/6Temel &Ifl.

I. smprmser Biflev sapgbas maml gr&HEas(h WellsHmers Sm CFILOMmIGET
SITIMBIG6T 6T60TL1LI(H &) 60TM60T.

II. @emeu Hev 6L D6V HTemend FleullLImss MM MG 60T M eoT.

III. 3168 BM&WL, CFMQWLD emaml JFrHendFhLer allenearUflbE enamL Je6T 6Umu]enel
Qauefluf & Comgwib SRCsHLmLS SHHMS.

IV. @emau Neormligedenil 6T BIMWMMSTHAD, QSH) UTEHSL 6T @eTeh&HaillL]
BIO&OSH WD BB 6OT M6

(A) T wmhoib T (B) II ol (®)1b

(C) III o IV (D) IV inpmuin 1T

Match List I with List IT : CCS4T/19

(a) Right to equality 1. Article 25-28
(b) right to Freedom 2. Article 14-18
(c) Right to constitutional remedies 3. Article 19-22
(d) Right to freedom of religion 4. Article 32
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120.

121.

122,

uliquiew I g I 2 L 6T QUITHSH SIS

(a) s zI60 2_[flemin 1. NIF&6T 25 (LNGH6L 28 GUENTT
(b) &=5H8 7 2_flemin 2. IH &6 14 (LNS6V 18 eUEm T
(c) siIrfwevemlINMGLUL® $Tey

&HMein 2_flemin 3. & S6T 19 1NG6V 22 aUem
(d) sWw H5HHT 2_flenn 4. N 32

@ ® @ @

a =2 3 4 1

(B) 1 4 3 2

© 3 2 1 4

(D) 4 1 2 3

From when Women were granted the right to vote in British India? CCS4T/19

(A) 1920 (B) 1921 (C) 1922 (D) 1923

Nligey @bHwmealed QUETHEHSHEG aMHGSGHlenn abhsd el ed;BHS
QULPMHBIGSLILIL L &I?

(A) 1920 (B) 1921 (C) 1922 (D) 1923

In which year the Staff Selection Board was established in Tamilnadu during the Panagal
Ministry? CCS4T/19

(A) 1916 (B) 1920 (C) 1924 (D) 1927

LIGOTE:60 {600 E & Te6U WLIMT6V 2 (Heum&aLILIL L LisooflwmeTy Gg e eumflwild SLdlbmL1gev
6TH % 2,600T(H CHTMHMIENGSHLILILL SI?
(A) 1916 (B) 1920 (C) 1924 (D) 1927

Match the following CCS4T/19

(a) Thembavani 1. Hindus

(b) Seerapuranam 2. Christians

(c) Bhagvad Gita 3. Buddhists

(d) Tripitakas 4. Muslims

QUMTHS SIS FLOWMIGET FMJHS HICVSHET :

(a) GxLbLIMaI6DDl] 1. @& FlOWld

(b) €Ly ymeoorb 2. GBMlervgiel FLOWILD

(o) uBGFHMS 3. 455 Flowlb

(d) L&D 4. @6MV6VITLD FLOWILD
@ Mm @ @

A) 4 3 1 2

(B) 2 1 3 4

© 1 3 4 2

D =2 4 1 3
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123.

124.

125.

126.

127.

128.

was discovered in 1922 under the Supervision of R.D. Bannerji CCS4T/19

(A) Mohenjadaro (B) Harappa
(C) Lothal (D) Kalibangan
R.D. umestigd] etadTIOUT TV 1992 6V S6vorL_MIWLILIL L [B&IFLD
(A) QuTamEhssTarT (B) eampiurm
(C) Gevmg 560 (D) 5569 LM g 60T

Who was called as ‘the father of Modern Currency’ during the Mughal period? CCS4T/19

(A) Babur (B) Akbar (C) Shershah (D) Shah Jahan
(WDSETWT &HTVEH 6L “HeT60T [HT6oor L (LNeMMUIEIT HH6NS" 6T60T A eMPESLILIL LU WIT?
(A) urury (B) @18u (C) Qagreqm (D) egregammesr

In the year 2017-18 The Per Capita Income (GSDP) of Tamil Nadu was CCS4T/19

(A) $ 1670 (B) $ 2200 (C) $ 1443 (D) $ 2175
2017-18 6V HLALPBTL 19 60T Heofl LT euLomest (GSDP) eTeuauemey?

(A) $ 1670 (B) $ 2200 (C) $ 1443 (D) $ 2175
The Utkal plain is foundin _____ state. CCS4T/19

(A) Andhrapradesh (B) Mumbai

(C) Odhisha (D) Tamil Nadu

2 5560 FlnGEIET] LDMTBleVE H6L 2| 6mL0THSI6TeTS

(A) 2 bSTUHreEsED (B) wpribemu

O e (D) A BT0H

0° longitude and 0° latitude is located in CCS4T/19

(A) Central Australia

(B) Brazil

(C) Atlantic South and West of Africa

(D) South pole

0° BI58 Crems WD 0°LF Grens UL Smevor LLI(heus!
(A) LEHW VECTESIWIT

(B) Gr&6v

(C) Q& 60T 911 6umevoriq & LnMMILD CLME& 1N H&am
(D) st SiHeumIserflev

Swine Flu is caused by CCS4T/19

(A) Rubella virus (B) Rhino Virus

(C) HiN1 Virus (D) Alpha Virus
LeT) STUIFSFemM6V 2 (HeUTSH LD 6m6UT6ery

(A) LI6L6LIT E6UIT6N (B) emd»yGeorIT 6mI6UT6IV
(C) HiN1 emeumeny (D) @Lev&UIT em6uren
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129. The Androgen Binding protein is produced by CCS4T/19

(A) Hypothalamus (B) Leydig cells
(C) Testosterone (D) Sertoli cells
QLT GIITER60T @)60600T6) L|THHMNS 2 MLIGH QF UILIem6
(A) emamGLIMEH6VITLO6N (B) 6519850560 &6T
(C) QLevGLmervIe @ medT (D) QeFCLMmed QFevas6T
130. Assertion (A) Blood samples are usually taken from the veins rather than
artery CCS4T/19
Reason (R) : Low Pressure in the veins

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) (A) is true, (R) is false

(C) (A) is false, (R) is true

(D) Both (A) and (R) are true and (R) is not the correct explanation of (A)

Famm (A) : @QU55 WTHF&E6T 6T(h &S HLneflseneT allLg FlensCer SmbH & emel.
&ryeoorid (R) : Flemysserfle @UsHs (WHSD GOMalTsds @) [HeHGELID.

(A) (A) nmoid (R) @pesor@ib &ifl Gavid (R) eteorlig! (A) & Fiflwimest eflengsssLn

(B) (A) &ifl syeormev (R) e

(©) (A) sy ayermev (R) &ifl

(D) (A) mmmiid (R) @uevorGld &ifl Gosuid (R) eteorig (A) el Frflwment elemd ssLn6vev.

131. Which of the following fact is incorrect about monocotyledonous plants? CCS4T/19
(A) Seed has single cotyledon
(B) Leaves have parallel venation
(C) Fibrous root system present
(D) Flowers are pentamerous
LNetTeu(Ld ep(HeNl&H 6mev &TeUTmIG6T LM MU SnMMmI&H6flel SeUmmers 6Tg?
(A) llems 6655 6m6evetIL C\&T6v0TL_ Gl
(B) @emevsserflev @ emeoor IGLIME G BILDLIEMLNG]| &Teoor LGRS
(C) 56ve0BUNS QBTG LIL] ST ILQSMS
(D) sb5mIs 1evT smeor LGS M

132. Which of the following fact is incorrect about mitosis? CCS4T/19
(A) It occurs only in body cells
(B) Mitosis has two divisions
(C) Maintenance of 2n chromosomes
(D) Two diploid cells are produced
WL Lm&ev ummlw LNeTeuLd Fommigserfley &eummergl eTgi?
(A) 2_L6v Q56566 L (HILD B L QUMISH MG
(B) emwLLmT& 6 @@h LIGLILISem6Td G185 TeoorTL_gl
(C) “2n” CIMGWLTECFTDGET BlemeVBIMISSLILGSH MSI.
(D) @@ @@LWCEF&6T G5 TedTmIER 60T M 60T
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133.

134.

135.

136.

137.

Which of the following are wrong? CCS4T/19

I. Na,COj is used in softening hard water

II. NaHCO; is used for bleaching cotton and linen in textile industry
ITI. CaSo, Y2 H-O is used for plastering fractured bones

IV. CaOCl. is used in making of baking powder

(A)Tand IV (B)IIand IV

(O IandIII (D)III and IV

L9 60760 (T 61 60T6U D MU 6T 5561 M ITETE0IEU 6TEM6U?

I. NaxCO; sigeor Hemy QLoedteof M MMM LiWeTLIH S mS!.

II. NaHCO; L&), 656otedT Z5i6001186M6T QeUEH&E LI LIWL6TLGSRMS!.
III. CaSo, Y2 H.O pMilib& eTaVlDL|&H6m6T 6L L 6meudas L LIWeTLHEmSI.
IV. CaOCL, Qg &@amLm swmifléasl LuweTUBG S mS!.
(A) I oo IV (B) IT nmoub IV

() T wmmib TIT (D) III whmith IV

Focal length of a convex mirror whose radius of curvature 40 cm is CCS4T/19

(A) 20 cm (B) 40 cm (C) 80 cm (D) infinity
40 Q&.LS. euemeTe] 9T 2 e W GeNlwImly eerilerr &alwld 6HTemneve)]
(A) 20 Q&F.165. (B) 40 Q&.10. (C) 80 Q&.16. (D) wpigelled

A man has to exert a force of 10 N at the edge of a door to push it open. How much force will
the man have to exert if he pushes the centre of the door? CCS4T/19

(A)1IoN (B)5N (O 15N (D)20N

@@ BT @(Ih HHen6l 3I560T (emneTuiley (emsLitliguiev) 10 N »j6me] aflengFamul Q&FasHS)
SLILTT, eTefley 91CH HFHemal H6T emwlll UGHWlev @phsE Hmes CHeameullL{ILD
aflem & ulledr DG LIL| 6TeoTEOT?

(A)1IoN (B)5N (O 15N (D)2o0N

The first battery was made by CCS4T/19

(A) Joule (B) George Simon ohm
(C) Alessandro Volta (D) Newton

(NG LO6THEVE NS 2_(THEUTHR U6

(A) ggeev (B) 2Mie3 ém&Lo6oT goLb
(C) 106v85meroT_CIT CeUMeLLIT (D) Bluyl_LedT

The average height of 12 students in a class was calculated as 152 cm. On verification it was
found that one reading was wrongly recorded as 148 cm instead of 172 cm. Find the correct
mean height CCS4T/19

(A) 150 cm (B) 156 cm (C) 158 cm (D) 154 cm
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138.

139.

140.

141.

142.

@M uGLIL6 12 meoralfsefledr Frma)l 2 Wyl 152 Q&F.LS5. 66T &HeooTdhE L LILIL L Sl
FAlUMIGGWL  CuUMsl 172 Q&S eetUams 148 QF.LS eeoT SHaummsd:  eT(hHSI5
Q&METaTLILL L ST Q&KW aubs Sl erevflev Fiflwimer Frmaifl 2wy wmsi?

(A) 150 Q&F.L85. (B) 156 Q&.L5. (C) 158 Q&.114. (D) 154 Q&.18.

The difference of the squares of two positive numbers is 45. The square of the smaller number
is four times the larger number. Find the numbers. CCS4T/19

(A)3and 15 (B)gand s (C)3and 16 (D)gand 6

@ reoor(h) L& 6T6vOTSH 6T 60T eUTESMmIG6T 6T NGB WMEFD 45 FAMlUl 6T600T600r 60T U8 &0
21,60TS1 QU 6T600T600160T [HITEOTE LOLMBIS MG E FLOLD 6T60 16V I [HS 6T600TSH M6 &5 T600T 5.
(A) 3 HOOID 15 (B) 9 opoitd 5 (CO)3wpmd16 (D)9 O 6

The radius of a cart wheel is 35 cm. How many revolution does it make in travelling a distance
of 154 m CCS4T/19

(A) 7o (B) 189 (©) 119 (D) 86

DML () 6UETITI & F&HHTHF6T QLT 35 QF.10. 33l 154 LS. QHTem6eve] SL ST, I FFHEHTLD
615 & 6ME0T (LD & &M MIGET &MU & E&LD?

(A) 70 (B) 189 (©) 119 (D) 86

Saran is 6 times as old as his son Sankar. After 4 years, he will be 4 times as old as his son.
What are their present ages? CCS47T/19

(A) 30,5 (B) 36,6 (C) 48,8 (D) 24, 4

FIevor eTeorLIeUfl6T eUUIG SeoT D& FhIGFleT euulengLll GLIMeV 6 DL MBIG. 4 6U(HLMBIS6T
&P 55 3j6aUfleT alG DG alllen gLl GLIM6V 4 LDL_TEIG 6T6of16V, 2 auT&6rledr &ML Gl
6UULI G 6T6OT60T?

(A) 30,5 (B) 36,6 (C) 48,8 (D) 24, 4

Express 0.35 into fraction CCS4T/19

35 35 5 35
A) o (B) 100 ©3 o (D) 1000
0.35 6160TM 6T6v0TEm 600T LI 60T60TLOMTSS LOMMH MG

35 35 5 35
(A) - (B) 100 ©3 o (D) 1000

How many numbers are there between 200 and 300 which are exactly divisible by 6, 8 and
9? CCS4T/19

(A) One (B) Two (C) Three (D) Four

200 &@&Lh 300 &@&LWD @emLGU 6, 8 LDMMILD 9 LEHUI 6TEOOTSHETTEV 6UEGLIL &HTnlq U 6T600TSH 6T
615 & 60)60T 2_6IT6IT60T ?

(A) setT (B) @uevor(p (©) epetry (D) BrretT&
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143.

144.

145.

146.

147.

148.

A can do a piece of work in 20 days and B can do it in 30 days. How long will they take to do
the work together? CCS4T/19

(A) 10 days (B) 12 days (C) 11 days (D) 20 days

A etedTLIGUT 62(H Cauemneveml 20 BITL_serflaviln, B eredTLIoU] 2G5 Gausmevemill 30 HITLG&erflevin
QEFWSHWILIUTTS6T. jeuall(halh CFFHS NeUCaIMeVMWLE QFUIS (LNL).E&S 615560 60T
BTL&6T ,&LD?
(A) 10 BITL&6iT (B) 12 BT &6t (C) 11 BT &eiT (D) 20 BITL_seiT

If 14 compositors can compose 70 pages of a book in 5 hours, how many compositors will
compose 100 pages of this book in 10 hours? CCS4T/19

(A) 12 (B) 10 )8 (D)7

14 916868 GHMILILAITSET, 5 06wl CHISH L ([ LSSH8555 60T 70 LIGHEMHIG 66T (LI LILIT.
10 Loeoof] CHISH 6V, 100 LIS BIG 6T (DL 678 H6M60T A5G CSHMTLILIITHT CHemeu?
(A) 12 (B) 10 ()8 (D)7

Find the simple interest on X 7, 500 at 8% per annum per 1 year 6 months. CCS4T/19

(A) X 600 (B) X 700 (C)X 800 (D) ¥ 900
7,500 && 8% el 19 655D (H QUHLLD 6 LOMSBIGHEH &S TET SH6of] UL 160G &IT600TS.
(A) X 600 (B)X 700 (C)X 800 (D)X 900

Cricket player Dhoni’s average in first 30 matches was 72 runs. After 315t match, his average
raised as 73 runs. How many runs did he make in 315t match? CCS4T/19

(A) 100 (B) 103 (C)74 (D) 108

Afle0 s ofgF GLmeluWileT W& 30 L L BI&GEH&HSTeT FFMEf] ¢l L LD (runs) 72 6T6rs
SHEOTEHH L LILLIQ(HHSS. 316ug LD B QUMM LNeT eumenlwl FrmaFifl el L 73
QL5 2 WTHS S 6Teoflev 31 QLaUd L L &FH6L 3jauT eTHSH(HHSH QL L BISH6T 6785 60)60T?

(A) 100 (B) 103 (C)74 (D) 108
Arrange the ascending order %,%, Z CCS4T/19

153 1 3 5 351 315
(A)Elglz (B)EJZJE (C)Z:E:E (D)szpg
gl aliflenguiley 61w SIs. %%g

153 1 3 5 351 315
(A)Elglz (B)EJZJE (C)ZIEIE (D)ZPEPE

In a T — 20 cricket match, Raju hit a “six” 10 times out of 50 balls he played. If a ball was
selected at random. Find the probability that he would not have hit a”’six”. CCS4T/19

(A< (B) ©)2 (D)2

T — 20 LDLLLIUBE CUTLIQUIE) TMe 50 LIHS&IG6meT TH T Q&meoor(h 10 (WDenm "o, mi”
RLLMBIGT ThSSTT. el aHIQSHTL Lbaisefley @@ LbBeng &SFeumuili]
wenpuiley CHIBOFSHHGLD GCUME IHL Sl "M’ @LLBIGET 6I(HEHSHTIN6
@ BLILGMETET Bl&HLDS& 56| 6T60T60T?
(A) = (B) 2

OF (D)2

www.vetriias.com
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149.

150.

151.

152.

153.

154.

‘Right to clean water’ is a fundamental right, under the Indian Constitution, CCS4T/19
(A) Article 12 (B) Article 21 (C) Article 31 (D) Article 41

"GHHSIOTT  GIQBT QUMISGE” 6TeTUgG Bg Sgliteml 2 flenn. @& @bHw
TR wevennlitev eths Liflellev oL MG ueTemgi?
(A) Nfley 12 (B) Nfley 21 (C) Nrfley 31 (D) 9Nley 41

“The Detroit of Asia” is CCS4T/19

(A) Hyderabad (B) Chennai
(C) Mumbai (D) Surat

" A Wmalledr QLLFmUIL" eTedTmenp&H&LLMIWD @L LD

(A) @ansImUng (B) Q& etremeor
(C) wibemu (D) &ud

The education system in India consists of primarily levels. CCS4T/19

(A) Eight (B) Six (C) Four (D) Two
@S W sevallnenm, L LI ullev IB160)6V 860068 G\ & T600T (H 6T S
(A) erL® (B) a0 (C) prretT& (D) @uesor(®

Kamaraj served as the Chief Minister of Tamil Nadu for CCS4T/19

(A) 7 years (B) 8 years

(C) 9 years (D) 10 years
SLALDBITL Q60T (NSHVMINEFFTTSH SHTTTRT LUsel af 55 S
(A) 7 eu@LBIS6T (B) 8 aumLmise6T
(C) 9 aupLmIGH6T (D) 10 au@mLBIS6T
GST came into effecton___ in India. CCS4T/19

(A) 29th March 2017 (B) 15t July 2017
(C) 29th March 2016 (D) 1t July 2016
GST @bBS W meilev HevL (NeMME S aUbSH S

(A) 29 DTHE 2017 (B) 1 g®emev 2017
(C) 29 omryE 2016 (D) 1 g®emev 2016

Mutant variety of wheat is CCS4T/19

(A) Oenothera Lamarkiana (B) Castro Aruna

(C) Sharbati Sonora (D) Mirabilis Jalaba
FOH LTHM CEHMSHIMLD UM

(A) FGeTTH T 6VITLOMTITE S WIT6oT T (B) 94060018 G 2] (TH 60T IT
(©) emyus QeTGermyT (D) Wymiledley gevrrLim
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155.

156.

157.

158.

159.

Which of the following statement is not correct? CCS4T/19

(A) Indus Valley people used burnt bricks

(B) This civilization flourished in India about 4700 years ago

(C) Harappa in Sindhi means “Buried City”

(D) Hundreds of square seals were discovered here

6TbS T DD SH6UMTENSI?

(A) 9 ba TG 66T IDE&SET &L Q&FMmISM &6 LIWI6TL(H &5 60T

(B) &0 4700 24,600T(H & @5 &G (LN6TL| @ BHMTSHFSHID VT THS S

(C) amglium eredtm AHHQWLMTLHEF QFTLNGH G “L|6M & U|600TL HETLD" 6T60TLI& QLITIH6T
(D) a7 aulg.all6uITenT HITM .MI& 856008 8 T60T (L& S M I &6 @) i@ &600TQ L (h &8 LILIL(h6Ters).

Which article of the Indian Constitution talks about ‘Taxes levied and collected by the Union
but assigned to the States’? CCS4T/19

(A) Art. 201 (B) Art. 269 (C) Art. 272 (D) Art. 268

"WEHW TeFmey S &&ELILULBIW, au@GE&HESLILLGILWD, IDTHlVBIEHESE 65H5H5HT I
aleTmRIG6T" UMM GMILILNGW @BHH W STH UevennLiL] &FL L &5 60T 6revor UWIMS?

(A) 5581 201 (B) 558! 269 (C) su5 8 272 (D) 57581 268

I. Baripada : A hamlet that Conserves Forest, promotes growth CCS4T/19
II. Baripada : Located in Maharastra — Gujarat border

(A) Iis true but II is false

(B) I and Il is true

(C) 1is false but II is true

(D) I and II are false

I umrfluLm: srE &L LUMSIGETSS aleTlILBSSID @@ GSSRFmnL0n
IL. umfluLm : amTImaqly T — GHRITE 6reVen6euUNl6v | 6mLDTHSHI6TETSI.
(A) Leterugl &1fl, apeormev 11 S6uMm)

(B) I nmoid IT sflwimeoreme

O) I eretTg Heuml. yeormev 1T eradTLIG FI1f

(D) I nmoid II eimmeorenel

Chennai becomes the ____ Indian city with metro railway. CCS4T/19

(A) first (B) fifth (C) Sixth (D) second

QBB seralley, QFeTemeT BHSHIWL, QLLECTT @ruisd CFemel Q& TevoTL
HSTLOMTGSLD.

(A) wgevTaug! (B) s meous) (C) bmmeaus (D) @uevorLrmeu s
When was Swachh Bharat Abhiyan was announced by the Prime Minister? CCS4T/19

(A) 2 Oct 2013 (B) 15 August 2014
(C) 2 Oct 2015 (D) 2 Oct 2016
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160.

161.

162.

163.

164.

TLIQUTR G eveud LIMys ollwimet LNgsn S ilume oimlellés il L gi?
(A) 2 456 muF 2013 (B) 15 &4&GLmury 2013
(C) 2 »86Lmur 2015 (D) 2 &456Lmui 2016

How many political parties participated in the 1951 First Indian General Election?

CCS4T/19

(A) 54 (B) 64 (C) 74 (D) 84
1951-9pD 21,600T(H HEOLQLIMHM WNFHL @QHH W QUTHSCHTHN6L CUTLIQUill L &L G 6T
6T& & 60)60T ?

(A) 54 (B) 64 (C) 74 (D) 84
India’s Central meridian passes through CCS4T/19

(A) Ahmedabad (B) Mirzapur

(C) Greenwich (D) Gujarat

@QBS wWmeller ST W Fi&Hs Crens AWIMS QEFLRMSI
(A) sis05TUTS (B) Wgemui

(C) B fearell& (D) &g01s

Who is the first Indian transgender to be honoured with ‘Padmashri’? CCS4T/19

(A) Satyasree sharmila (B) Prithika Yashini
(C) Narthaki Natraj (D) Tamilselvi
‘ugLuf” @S QUOHD PG GBS W HGHH S WITH?

(A) g5wwef eqFdlerT (B) Wfs®am wmad et
(O B7&s& BLIMS (D) s8lh& QFeva

During 1857, the peasants had to pay heavy taxes in the form of CCS4T/19

(A) Land tax (B) Customs duty

(C) Revenue tax (D) Service tax

1857 6V G IQUIMEOTEUT 6T AUFHINMTH QFN G CeusooriquImbHE eurfl
(A) mlev euifl (B) &miss eurfl

(C) supLomeor eurfl (D) Gz emeau auifl

Home rule league in Bombay was formed by CCS4T/19

(A) Bharathiar (B) Mrs. Annie Besant

(C) Nehru (D) Tilak

Ubumuiev HeTeTT_ & Hp&HE5mE CHTHMe &Sl

(A) urp®wTy (B) 9\(p.05). Sj6tT60f1QLIGF60TL
(C) Gp® (D) Bevssy
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165. Match the following CCS4T/19

(a) Herald of new age 1. Annie Besant

(b) Martin Luther of Hinduism 2. Raja Rammohan Roy

(¢) New India 3. Ramakrishna Mission

(d) Photo Voltaic lighting system 4. Swami Dyanandha Saraswathi

QUIMTHS S &:

(a) meSeor @HBE Wimedledr aliqQeueierf] 1. 9j60Tevf] QLISEOTL.

(b) @b& FLOWSSH 60T IOMTL_19.60T TGHT 2. @I JFTGLOTSH60T [Tl

(c) Blw, @b wiT 3. @U TS [Heq6uoTIT LOL LD

(d) &flw sperfl epeuid WleSTEMTLD 4. saumlll HWMeTh& Freneud)
@ b @© @ @

A) 1 3 2 4

(B) 2 4 1 3

©) 4 3 2 1

(D) 1 4 3 2

166. The Central Vigilance Commission was established on the recommendation of CCS4T/19
(A) Administrative Reforms Commission
(B) National Development Council
(C) Santhanam Committee on Prevention of corruption
(D) Law Commission
Gweller LflBHglemTuIT QLI UNY DSFUI 85600TGH 00T LIL] 3606007 UILD

NEGHLILILL G
(A) BlTeuns: FTHHES 26016007 ULILD (B) GaH\W auenj&F&i & &
(C) sBsmeTd 26TLp6h HHILIL G (WD (D) &L oyemev0TWLILD

167. The Chief Justice and other Judges of the Indian Supreme Court are appointed by CCS4T/19

(A) The President (B) The Attorney General

(C) The Governor (D) The Prime Minister

@B W 2 55 BH 6T Senevemin BH LG wmmid LN BH LS SHemer BlwLdl L6
(A) ®UWIsHS Heneval (B) B3emeuemin euLp&&emTEh T

(C) @@pBy (D) Wyso SeOWEE]

168. Which Amendment has made provisions related to ‘Nagar Palikas’ (Urban Local

Government)? CCS4T/19

(A) 7374 Amendment Act (B) 75" Amendment Act
(C) 74t Amendment Act (D) 7o0th Amendment Act
"B&HT UMOST" FLLID FMIHS FLL HHSHHD S GSlD.

(A) 73608 FLLAHSSD (B) 75608 LS HESSLD
(C) 74618l FLLEMHSSLD (D) 706u5 FLLH GBS
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169. Which Union Territory has its own elected Legislative Assembly? CCS4T/19
(A) Chandigarh (B) Lakshadweep
(C) Puducherry (D) Daman and Diu
G LD 8555 600T L6 (1 M1 61T 6TH S W, 6071 UL 63T NG &Ld 5560155 () 85 60T M) LD & 856IT 6V
CHIBOSHHSLILILL &FL L D6TMLD Q& TeooTLGl.
(A) FevoTIq BT (B) &5 66T
(©) yssesiyl (D) Lrnedt Lommih Lul,

170. In Lok Sabha, how many members are elected directly by the people? CCS4T/19

(A) 453 (B) 354 (0) 543 (D) 545

IDG&&HeTemaIUleL  n&sermev  CBIIQWTs:  CaIBAsMHGHUILMGL 2 milierisgerler
6T600T 6001 1856008 WITG1?

(A) 453 (B) 354 (C) 543 (D) 545

171. Which article of The Indian Constitution deals with fundamental rights? CCS4T/19

(A) 14 (B) 19 (©) 32 (D)51A
@B W AT WeevemDLILN6T 6THS aNE) S LILIENL & &HLemn&HemeT GMI& S ellendGH MmSI?
(A) 14 (B) 19 (C) 32 (D)51A

172. Which right has been abolished by the 44t Amendment Act, 1978? CCS4T/19
(A) Right to freedom of religion
(B) Right against Exploitation
(C) Right to Property
(D) Right to Constitutional remedies
19786V 44618 TR WeevemLILEF FLLS HHEHESSHeTU g liuenl 2 flenwnulledmha
Be&aslULL 2 flenin 61g1?
(A) FLWE &5HHTSH MM 2_flemln
(B) &xgevorL_emev SGOILILIGMETer 2_[flemin
(©) g giflemin
(D) ojpFweveminliL] eulll Bie s eh & mer 2 flemin

173. “The Right to information Act” was passed by parliament on CCS4T/19

(A) 20 October 2005 (B) 21 October 2005

(C) 25 October 2005 (D) 12 October 2005

"H&HeU60 MWD 2 flennd FL LD UMTITEBLIaTmSH 6V BleoymGaummUiLL L HTeT
(A) 20 &15GLITUIT 2005 (B) 21 &5GLITUIy 2005

(C) 25 &G muF 2005 (D) 12 &185GLTury 2005

www.vetriias.com 9884421666/9884432666 16



http://www.vetriias.com/

174. Match the following CCS4T/19

(a) First session of Constituent Assembly 1. 4t April 1957
(b) Date on which Drafting Committee was setup 2. 13t May 1952
(c) 1t sitting of Rajya Sabha 3. 29th August 1947
(d) Dissolution of the 15t Lok Sabha 4. 9th December 1946
QUIMTHS S &:
(a) SITH W6V BlFevoTW FemLl (LNG6V Tl LD 1. 4 gLigev 1957
(b) euempeys GW 2 BaIMHSLILLL CHS 2. 13 G0 1952
(c) InmEleVEISET emeuuNeT (PN&HVEnL LEQGTLT 3. 29 QL8560 1947
(d) ®YwWrs Heorid 4.9 19FLDUT 1946
@ b @© @ @
A) 4 3 2 1
(B) 1 2 3 4
© 3 1 4 2
(D) 2 4 1 3
175. The Railway Station “Mendipathar” is located in CCS4T/19
(A) Sikkim (B) Meghalaya
(C) Tripura (D) Nagaland
"QIOETILISTH" @Tuiley Blemeuulld 6THS LOMHIEVSFHI6) 2(60ILDMH SI6TETSI?
(A) 591D (B) Gossmeuwlm
(O 8flygm (D) prsevmbal

176. The first state to be created on Linguistic basis was CCS4T/19

(A) Kashmir (B) Tamilnadu
(C) Karnataka (D) Andhra
W56L Qm™eurifl InmBlevLDd 6T&I?

(A) smaq iy (B) s Qlppr®
(C) &syBrLST (D) syp&ym

177. Who provided the Vimana of the famous Nataraja temple at Chidambaram with a golden

roof? CCS4T/19

(A) Raja Rajan — I (B) Parantaka — I

(C) Rajendira — I (D) Narasimhavarman — I
FIHOUTLD BLITRT e0WLSH 6T FaenIHEG QUTMInemT Gaullbgedd WITF?
(A) Wgeurid TTETTeg 60T (B) wpgeurmid LITTIH& & 60T

(C) wsevmib TTCLHH JeoT (D) whs6umid BIF&ILDLOGUIT LD 60T
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178. Who was called “Madurai Kondan”? CCS4T/19

(A) Aditya — 1
(C) Raja Raja — 11

(B) Rajarajan — I
(D) Parantaka — I

"LDGI6MT G185 T600TLT6OT" 6T60TMI L|&HLOLILIL L 6UIFT WITI?

(A) wseTh B SHWT
(C) @uevorLimin @\ Imeg[ megeor

(B) hg6urmid @\ITegiymeg60r
(D) wrmeurmid LIFTTHS & 60T

179. Who was the son of Simhavishnu? CCS4T/19

(A) Narasimha Varman
(C) Parameswar Varman

(B) Mahendra Varman — I
(D) Nandivarman

G D106 61q 67016 60T LD 85607 U ?

(A) IS b6 LD6OT
(C) ugGLenveUFeUyLO6dT

(B) wrseurmid 10G&HS) 6T L0 60T
(D) Brb&euyLoeot

180. Headquarter of West Central Railway CCS4T/19

(A) Mumbai (B) Hubli

(C) New Delhi (D) Jabalpur
GuMmE WHHW TulsvLCeuuier &emevemnouili LD

(A) whemL (B) ameLierl
(O) ua QL6vE (D) gueuLLy

181. Which of the following is correctly matched CCS4T/19

I. Indus -

II. Brahmaputra -

ITI. Godavari -

IV. Mahanadi -

(A) T (B) I
G LD & & 600TLeummieT Fiflwims
Lo b -
IL.YybwysTm -
III.Gs s meury -

IV. b&mps -

AI B)II

Gangothri
Lake Manasarovar
Bettul
Agasthiyar Hills
(C) III (D) IV
QUMTBHSSLILL (DTS 6517
&HBICH TSI
meorgF@rmeuy e fl
QUL (Hev
&HSH W LDEM6V
(C) III (D) IV

182. Which of the following facts are correct about prokaryotic cells CCS4T/19

I. Prominent nucleus is absent

II. Nucleolus is present

ITI. Mitosis and meiosis cell divisions are takes place

IV. Enveloped cell organelles
(A) I and II are correct
(C) II and III are correct

www.vetriias.com
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Nereu@d UBrmBasflGWML(h Q&F6&6T LMMIW Sammisertley FiflmeTemnel eTemeu?
I. Qgefleumer 2 L &0 HemnLWMsl

II. BlwsseflGumevey &meoorILIGISRMmSI.

ITI. el Lm&lev Mo WwWm&lev QFeulflEHe0 BemLQUMS M.

IV. Feuaflermeh @GLOLILIL L Q& 6L Hl6ooTeslmiLIL| 86T &6t UIMS

(A) I oo IT &ifl (B) I npouid IV &1l

(O II nmouid IIT &l (D) III nmouid IV &ifl

183. Which of the following is correct? CCS4T/19
Volume of CO, liberated
Volume of 0, consumed

(A) Respiratory Quotient =

Volume of 0, liberated

(B) Respiratory Quotient =

Volume of CO, consumed
Volume of 0, consumed
Volume of CO, liberated
Volume of CO, consumed
Volume of 0, liberated

(C) Respiratory Quotient =

(D) Respiratory Quotient =
LYereupeusoreummlev &Fiflulmeors! eTg1?

(A) eieuafluii'LBED CO= sETey
Feung efigid =

UeUBSSILED O Semey

(B) aeuaflui_'uBib COz oemey
Feung efimn =

LweTLESSILED CO= sErey

©) LILSTUESS LG Oz 6Tey
FeunF efigld =

eauafiuiL LD CO= semey

(D) LWSTU(RESUILELC O, sEmey
&HEUNF efigld =

eeuaflii_tuED O aeney

184. The reaction which takes place at cathode of an electrochemical cell is CCS4T/19

(A) oxidation (B) neutralization

(C) reduction (D) substitution reaction
@ 6T CauH & Heverfley eT& TIdletTaumuiley BlapLd 6lemeor

(A) oL86MGarmMLD (B) b\ Blemevuwl s 860
(C) @866 (&0 (D) usei_ ellemeor

185. An example of commonly used Insecticide is CCS4T/19
(A) Bordeaux mixture
(B) 2, 4 — Dichloro phenoxy acetic acid
(C) Dichloro diphenyl trichloro ethane
(D) Arsenic
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QuUIsIeUTSL UWeTUBGSSLILBGILD LLEFF S 0&5M0e06HG 6T(h S S5 &ML (H
(A) GUTILIT&6N Hevemeal

(B) 2, 4 o)L &Cemm @ LTeormaenl o&1L19.8 2jLblevld

(C) eL@&GemmGrm emLLiemeorsv LemI&GCemm@rm i &G 60T

(D) @5 eufls

186. Match the following elements with its Latin name: CCS4T/19

(a) Lead 1. Stibium
(b) Antimony 2. Plumbum
(¢) Tin 3. Kalium
(d) Potassium 4. Stannum

ECp  QeEMOSsUULBETET  HeofllomGemeT  AHT  wHHT  QUWTSHC6TT(

Q&sTLIUUGISSELD

(a) Qevl_ 1. eru1q 9w
(b) oyeor1q L06TOT 2. YermwulLb
(c) 1q.e0r 3. &medlwild
(d) QurlLm®wib 4. 610 GL6uTLD

@ ® @ @

(A) 1 3 2 4
(B) 1 2 3 4
© 2 1 4 3
(D) 4 1 2 3

187. If the focal length of a concave lens is 2 m, then the power of the lens is CCS4T/19
(A) 2 dioptre (B) 1 dioptre (C) 0.5 dioptre (D) — 0.5 dioptre
2 1§ Galwg Q& Memeve] 2 6mL W & LH G 6vesTF 6T & medT
(A) 2 emLwimrlLy B)reorwrmiiy  (C) o5 evwriLy (D) — 0.5 ewLwntif

188. The maximum temperature in a city on 7 days of a certain week was 34.8°C, 38.5°C, 33.4°C,
34.7°C, 35.8°C, 32.8°C, 34.3°C. Find the mean temperature for the week CCS4T/19
(A) 34.8°C (B) 34.9°C (C) 34.7°C (D) 35.2°C
@M GMIUILL amrsHe BHEIsHar HsLLF Qailiuplene 34.8°C, 38.5°C, 33.4°C,
34.7°C, 35.8°C, 32.8°C, 34.3°C 91,5 @BHS5S!. SIH& aUMIsH 6" &rmaif QeullLmplenevemnuls
& ITE00T 5.
(A) 34.8°C (B) 34.9°C (C) 34.7°C (D) 35.2°C

189. A group of 100 candidates have their average height 163.8 cm with coefficient of variation
3.2. what is the standard deviation of their heights? CCS4T/19
(A) 3.23 (B) 4.91 (©) 5.24 (D) 6.38
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190.

101.

192.

193.

194.

@0 Gwelev 100 GUIT 2 6TemeTh. SjeuTserfler 2 Wrhkiseflear gl H&symnafl 163.8 Q& 5.
WMHMID LTUTL (&R 8 W 3.2 6Teflev, 3iaIT&HEHemML L 2 WFhigefler H L allevs s s 5
HITCO0T 5.

(A) 3.23 (B) 4.91 (C)5.24 (D) 6.38

The present ages of Reena and Usha are 24 years and 36 years respectively what was the ratio
between the ages of Usha and Reena, 8 years ago? CCS4T/19

A)7:4 (B)6:5 (C2:3 (D)4:7

feoorm WMHMID 2 aqmelledr SMHELMENSU UWSIGET (WWemMGCU 24 QUIHLBIGET LDMMID 36
QIMBLBIGHET 6Teoflel 8 eT(H&HEBEHEG (WL6TL 2 6qm mmID feoormeller 6l giserfleor
NS GLD 6TeOTEOTOUTSH @) (HHD) (H&ELD?

A)7:4 B)6:5 (C2:3 D)4:7
3\—2 2\—-3
Simplify (S)ZZX% CCS4T/19
2 2 1 1
(A) 75 (B) 9- ©)7 5 (D)9 >
&_@a's@as ) (33)_2X(22)_3

(2%)72x34x4~2

472 (B) o> ©) 73 (D)9

The total surface area of cube is 384 m2. Find the side of the cube CCS4T/19

(A)3m (B)8m ©)4m (D)6m
Qb H60TF FSHITHH 6T QLDTHS aUeneTLTLIL] 384 L2 6Ted160 ]S 60T LIGE1D 6T6166TE?
(A) 318 (B) 8 15 (©) 418 (D) 6 L8

Find the LCM of 3(a — 1),2 (a — 1)?,(a®* — 1) CCS4T/19

A (a+ D@+ 1) B) (a—1D?*(a+1)
(C©)6(a—1)(a+ 1)? (D) 6(a—1)%(a+1)
3(a—1),2 (a—1)? (a% — 1) -67 I5FR 0 QLTSI LOLBIG &IT600TE.
(A (a+1D?*(@@a+1) B)(a—1?*(@a+1)
(C©)6(a—1)(a+ 1)? MD)6(a—1)%(a+1)

Find the cube root of 1 % CCS4T/19

@3 ®)2 ©3 E
1% -60T (LPLILILG. ELOGVLD &5IT6UOT.
QO (8)2 ©: E
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195.

196.

197.

198.

199.

200.

The ratios of the respective heights and the respective radii of two cylindersare1:2and2:1
respectively. Then their respective volumes are in the ratio. CCS4T/19

(A)g:1 B)1:4 OC)z2:1 (D)1:2

@)\ T600T(h) 2_(H 606G 611 60T 2_WIFMISET (emMGEU 1 : 2 LnMMILD eUMM60T 24T MHIS6T (MG
2:1 9B W &G mIGeT e LI, eummler seor o 6meserfler el& &L

A)g:1 (B)1:4 C2:1 D)1:2

At what rate of interest a sum of money doubles itself in 10 years in simple interest?
CCS4T/19

(A) 10% (B) 20% (©) 50% (D) 25%

R QST WTerg Heoflall lg Wemmule) 10 aUBLEH O @ILIQLILUTES 986 all g efsld
6TEOTEOTEUTS: @) (H& 5 Geueoor(hLD.

(A) 10% (B) 20% (C) 50% (D) 25%

In a Geometric progression t, = Z ; by = % . Then the common ratiois  CCS4T/19
(A% (B); (€)1 (D) 5
R QUIMHHGSH OFTLieuflenFullev t, = g OHMILD t; = %
6Teufl6L QUIMG NS GLD &TevoT.
(A) = (B); €)1 (D) 5
a

If a;, = —1thenfind a,,a; inq, = ”+‘21,n >1¥n € N.CCS4T/19

n

1 1 -1 1 1 -1 -1 -1
a, = —1 womid a, = ‘;’:zl,n > 1V n € N.ereofleb a,, a; &meoorss.

11 -1 1 1 -1 -1 -1
If14+2+--+n=Kthen 13+ 23 + --- + n3 is equal to CCS4T/19
(A) K? (B) K (C) LD (D) (K +1)?
1424 --4+n=Kaeefleo 13 + 23 + .- + n3 eredrI gl
(A) K> (B) K (C) LD (D) (K +1)?
The common ratio of the G.P. a™™™, a™, a™*" is CCS4T/19
(A) a™ B)a™ (©C) a (D)a™
a™ ™™, a™, a™" eredTm QUHHGS QsTLFauflenguller QU NGl
(A) a™ (B)ya™ (C) a™ (D)a™
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